
"+" case: "−" case: 

𝑦ଵ = +(𝑥 + 2)
𝑦ଵ = 𝑥 + 2

𝑦ଶ = −(𝑥 + 2)
𝑦ଶ = −𝑥 − 2

x y

-5 -3

-3 -1

-2 0

-1 1

0 2

Pt.

(-5,2)

(-3,1)

(-2,0)

(-1,1)

(0,2)

Table of Values

𝑦 = |𝑥 + 2|

𝑦ଵ = 𝑥 + 2𝑦ଶ = −𝑥 − 2

Notice the graph of 𝑦 = |𝑥 + 2| is the graph of 𝑦 = 𝑥 + 2 and 𝑦 = −𝑥 − 2 without any negative 𝑦
values. Transfer any negative y value to a positive y value. 

𝑦 = |𝑥 + 2|

Piecewise function: 𝑦 =    𝑥 + 2, 𝑖𝑓   𝑥 ≥ −2
−𝑥 − 2, 𝑖𝑓  𝑥 < −2

𝑦 = "+" case,    Domain of "+" case 
"−" case,    Domain of "−" case 

Notice: The domain of the negative case is not equal to.

Domain of positive case: Domain of negative case: 

𝑥 + 2 ≥ 0
    −2      − 2
       𝑥 ≥ −2

𝑥 + 2 < 0
    −2      − 2
       𝑥 < −2

Set what is inside the 
absolute value greater 
than or equal to zero.

Set what is inside 
the absolute value 
less than zero.

Graphing Absolute Values

x y

-5 3

-3 1

-2 0

-1 1

0 2

𝑦 = 𝑥 + 2 𝑦 = |𝑥 + 2|

Distribute a positive into the absolute value 

Distribute a negative into the absolute value 

If already 
negative 
combine

Vertex: (−2,0)

Set inside absolute value = 0 and solve
TOV
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